ogd o Saxil wllz]
JLaiVly wlhleill
(146) anio 0B 00 G831 £
boxes Wil a¥l olled] o WS 251
a)limx-3x2—-9x-3

limx—-3x2—-9x—-3=6

b)limx—-0f(x),f(x)={x,x<01,x>0
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a)limx-21x-2

b)limx--31(x+3)2

(150) dnio PRS00 88 £
L oo alg JS Ol wllgill paibas Josiwl
a) limx-12x3+3x2-4
(limx-=1(2x3+limx—-»13x2 —limx—-14
limx—=1x)3+3(limx-1x)2— 4)2
1=2-4(1)3+3(1)2

b) limx—=41+3x23x-2
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(a)limx—-2(3x2—-5x+4
b)limx->—11-4x2
C)limx-3x3-5x—6x2-2

d)limx—4x2—-16x—4
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a)limx—-07x—x2x

b)limx-02—-x+4x

¢)limx-5|x—5[x—5
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a) f(x)=x5+2x3—x,x=1

b) g(x)=x24+16x—5,x=5

c) h(x)={x—1,x<35-x,x=3,x=3

d) p(x)={x2-25x—-5,x#510,x=5,x=5
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